BIRLA HIGH SCHOOL (Boys' Section) AISSCE – 2021 (Class-12) Results at a Glance

No. of students appeared	205
No. of students passed	205
No. of Compartmental	00
No. of Failures	00
No. of students secured 60% and above	205
% of students secured 60% and above	100
No. of students secured 70% and above	205
% of students secured 70% and above	100
No. of students secured 80% and above	188
% of students secured 80% and above	91.70
No. of students secured 90% and above	119
% of students secured 90% and above	58.04

Code	Subject	Total No. of students appeared	90% and above	80% and above	60% to 79%	40% to 59%	Below 40%	Highest Score
301	English	205	104	196	09			99
302	Hindi	39	17	34	05			97
105	Bengali	13	10	12	01			99
041	Mathematics	185	63	139	45	01		99
042	Physics	88	57	81	07			99
043	Chemistry	88	73	85	03			100
044	Biology	21	20	21				97
055	Accountancy	100	34	70	25	05		100
030	Economics	101	69	88	11	02		100
054	Business Studies	100	64	92	80			99
066	Entrepreneurship	51	31	47	04			99
027	History	12	06	10	02			97
028	Political Science	17	08	11	06			99
037	Psychology	13	06	09	04			100
083	Computer Science	61	46	59	02			99
067	Informatics Practices	06	02	03	03			94
048	Physical Education	29	11	23	06			96
039	Sociology	16	05	10	06			99
029	Geography	05	02	03	02			97
045	Biotechnology	02	02	02				94

BIRLA HIGH SCHOOL AISSCE 2020-21 (Class XII) – Ranks

Top three in the School

Rank	Name of the student	Total marks obtained	Percentage
1 st	Lokesh Somani	496	99.2
2 nd	Aditya Roychowdhury	494	98.8
3 rd	Yash Jain	491	98.2

Commerce Stream topper

1 st	Lokesh Somani	496	99.2
2 nd	Yash Jain	491	98.2
3 rd	Piyush Agarwal and Manan Parasramka	490	98.0

Science Stream topper

1 st	Aditya Roychowdhury	494	98.8
2 nd	Anish Banerjee and Basil Labib	490	98.0
3 rd	Spandan Das and Sutirtha Naha	489	97.8

Humanities Stream topper

1 st	Eshan Bannerjie	487	97.4
2 nd	Akash Nath	486	97.2
3 rd	Himaghna Bandyopadhyay and Arihant Saraogi	477	95.4

BIRLA HIGH SCHOOL Statement of the mean of the marks obtained by the students in AISSCE

(Class XII Board Examination)

(Class All Board Examination)				
Academic Session				
2016 - 2017	85.41			
2017 – 2018	86.74			
2018 – 2019	85.91			
2019 – 2020	89.66			
2020 – 2021	89.64			

Note

The mean of the marks was calculated on the basis of 5 subjects (English and the best of 4 subjects).

BIRLA HIGH SCHOOL

Statement of the mean of the marks obtained by the students in AISSCE (Class XII Board Examination)

	Total number of students	Sum of the marks obtained	Number of subjects	Mean of the marks obtained
2017	217	92665	1085	85.41
		32000	1000	
2018	214	92987	1070	86.74
2019	205	88059	1025	85.91
2020	202	01005	1015	90.66
2020	203	91005	1015	89.66
2021	205	91886	1025	89.64

BIRLA HIGH SCHOOL

1, Moira Street, Kolkata - 700017

AISSCE (Class 12)

	2018	2019	2020	2021
Total Number of students appeared	214	205	203	205
Failures, if any			NIL	NIL
Compartmental			NIL	NIL
Passed with First Divisions	100%	100%	100%	100%
Passed with Second Division			NIL	NIL
Average of total marks obtained	86.74	85.91	89.66	89.64
Salient Features, if any	100% in Economics (6 students) 1. Karan Ghorawat 2. Vedant Harlalka 3. Ansh Jain 4. Devansh Modi 5. Yash Damani 6. Sanskar Saraf 100% Business Studies Yugam Bajaj Dhairya Kothari 100% in Accountancy Sanskar Saraf 100% in Chemistry Devansh Chandak	100% in Economics Mridul Heda Yash Damani Harsh Toshniwal 100% in Mathematics Siddharth Sonthalia Harsh Toshniwal 100% in Physical Education Gosharya Bagri Siddhant Kochar	100% in Economics 1. AMAN KUMAR SHAH 2. AARYAN AGARWAL 100% in Chemistry KINJAWL BHATTACHARY YA 100% in Accountancy APURVA KUMAR SHROFF 100% in Psychology RAYAN CHAKRABARTI	100% in Economics Lokesh Somani 100% in Accountancy Lokesh Somani 100% in Chemistry Aditya Roychowdhury 100% in Psychology Eshan Bannerjie
Admission – Class XI	Complete	Complete	Complete	Complete